11-03-2022 Issue 3

Installation Instructions
50100 - Mast Mount Adapter Kit

1050100
Adapter Plate

ol =

60065 60068

60640 - M6x40 S/S Bolt |X_8 6mm S/S Washer @ Nut Cover W
I D

*60635 - M6x35 S/S Bolt

[x4

M6 S/S Nyloc Nut m

These fasteners are to be used in conjunction with fasteners included with Scanstrut Mast Mount.

4x M6 x 40 Bolt
(60640

4x M6 S/S Nyloc Nut
(60060)

)*\

8x 6mm S/S Washer

4x M6 S/S Nyloc Nut

(60060)

*For SC12,5C14,5C16,5C18 & SC21 use 60635 - M6 x 35mm Bolt

g

16x Nut Cover
(60068)

;
R

4x M6 x 40 Bolt
/ (60640)

8x 6mm S/S Washer
(60065)

—_—




